71&717F 5 °]aL, y el 10

DO y=2x+10 @ y=-5x-10

@ y=5x-10 ® y=-5x+10



& ole] FAE 9 o), e F AIe] el 5
e

® 2 o H4:0] o] L& A9-0] 4= 3 7Hx|o] )
@ 1 5o} 2 o] 11 490 4 1 74K o]}



@ 107

® 15 7

@ 20 7

N
N
N
N
e

® 25 7

rE

1%



4.

8 Y T FolH A 1Y, 28
Fatelet.

s 714



@ 12 A
® 20 7H

n=

2 B o3 A
olo] A gH5

® 15 7N



g7fel Al & 3709 7

57} 4 S Bl ﬂol






= 2ax+3



AL A ax 4+ 2y —4 = 02 It =

=
o, &4 a+ b2 §2?

(2,1), (4,6)E A



T
pehd 2

2l o o] %
a1 =2

olt.

Fat
o]

),

Ty=ax+b 9 AYPZE
Fafelet.

a+b o=

YA




11.

M A x=3y=4 x+y=a’}
e



12.

870l 100 972, 50 9#-2]
o ote FE4E A o, AEst

@ 2714
@ 5717]

@ 3714
® 671



13, HZolu] vhgol4 HZolu] FopH AT ANL B shio
7127} 338], Ak 48] YRR Sk AZo]7k FoulA) go]
2k o PHE BT DA

® 77HA @ 12714 ® 14714
@ 497174 B 6474



14. e[ |l 1,234t A A =S @AY 5
), 100 Heh & 5 9l g 4 QA Fetefet.

rr

=k

2



—

o o

H =0

fz 5 M

ol N
=5

EC)
T o
o
= P
uWﬂl.mM
ER R
NS
]

@ 371H4] ® 6714

® 18714

® 2714
@ 9714



ol

Tou

ol

ol

ol
ofig
Nfo

@ 0<p<i

O p=1-g¢

® p+g=0

@ pg=1



17.

A9 5 A4S B4 B o), ok £ Fol 3

©9



18. 14 10744 48 9l 1049) #E7} FHU e Sof k.

o] Lo A o] 245 1 Fo] tha] FHo] ol o]

hE AT 7 Al Theel ThA & AL Aol £4E 2 1), £
SA RS B4 858 Fojolet

e
=%

of %7}
FHe



19. ©hg 193 2ol £ 7o) Fujy A, B7} 9iek. A FulUel B R0y

=
oM B Zhot Shbs 7 W), A k2 Az Fol 11 827

= = 3 =2v !

16 3 19
5

35






ol (1, 2)E A W, a+b o =



22,

(

e o
RAVgRA
ok ool

v

o,

L

24

Z]
y=

ax+b 9 x

[e]
dde

0] & 21 2x + 6y = ax + 4, 4x - 3y = b — 6 &] I}
oot



23. 3/ B y=—-x4+6,y=x+6,y=2%2 =AU =F O] Yo|&
“Fotod et

s
=¥



24.

TR T} ol 3 7]0] B A, B,C 2 Uhrlold
Azrgol glet. 4744 Mo g Fste] 5
or Astely @ o, 4G 4 Gl LE A9

5% Potofet.

v

o 7]




25. A, B, C, D, E 5%& st
5 otoet

R 714

2 e o, A, E7} o] 25t= A0

N



A

0, 2, 3, 4, 7, 89 =2t Al 7= A =]

26.

A



27. EQ o] vzt 30%, 4o H|7} & &Eo] 40% U ),
]_

ol % H|

E°]
529
= 1 1 =T

L2 3}
=
_O_
=

JEL

@ 5% @ 7% 3 12% @ 15% 3B 18%



28.

A x—my+n=00°] A 3AEHS A}A]|
y = mx—n ©] T A D ALEES AL 9
mn#0)

K A

rr



29.

UGG A (2a—4)x+(h-3)y—6 = 0°] T+

A o2x—y=4,x+y=>5

oF ot oA FAofl T, dApFE A y = 50 Aoz T

209 v a+ b e Fotolet,

g



71A]

Ct
=



A, B F 79 FALE FAlOl 94 4o w0l ZHta,
A ax+by =15 7F (1, 2) & Ad 527
©)

@ ®

Wl =
=~ =
D=
—_
()



32.

S| 7t o A E SE ZEO

Holw & BAE IE FES TS

e
-

-

= W

ojtt. sIx|7F

of=t.

=
s

A

it}



ol
Tor

™

— | N

— |



